SN SATE D
By AYTSAYAN D (YRS 44 /59 - 52
ol 5905 U ASOHH

A

SH-EH . C(BH) - NRAY - BES Ofl AF o4 ggi bRz
S AR Dt 60,835,939 59,491,213 1,344,726
2 22,442,421
2 26,465,000
| 1,600,000
= 10,328,518
NYRSAYAMD(STHLLL/5Y - 5&) 29,945,648 31,317,619 ~1,371,971
2 22,442,421
| 1,600,000
= 5,903,227
SYIIE U ASOHH 9,990,762 11,420,489 ~1,429,727
2 8,399,409
= 1,591,353
SI12 SUA (2 D) 3,120,000 1,560,000 1,560,000
2 2,400,000
= 720,000
403 RASHSRZOIF 3,120,000 1,560,000 1,560,000
2 2,400,000
= 720,000
01 RXSHI2LE 3,120,000 1,560,000 1,560,000
OSIIHL AR (52H2) 3,120,000
2 2,400,000
= 720,000
s)HZB2 70,000 223,900 153,900
202 oft 10,000 1,400 A1,400
01 =UHoIH 10,000 11,400 A 1,400
O5AIN AL ASHHEX 10,000
403 RXSHSKZ0IH 60,000 212,500 A152,500
01 RXSH2EE 60,000 212,500 A152,500
O285717 B2 XA (R2IIIS 100CH) 30,000
O3S S HIZHI(80CH) 30,000
ZAZAXNANEX AL (2 D) 6,770,762 9,191,519 ~2,420,757
2 5,999,409
= 771,353
202 oft 4,000 4,000 0




SN SARRD
HH: AYRSAYLYD(SLHS /5 - 5E)
Sl 59025 o ASOHE CEEED
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
202 01l = 4,000
01 =LHoit] 4,000 4,000 0
OFASZANANEHZAES 4,000
2 4,000
308 XHXIEHHSOIH 6,766,762 9,179,519 A2,412,757
= 5,995,409
= 771,353
01 KASHALRES 6,766,762 9,179,519 A2,412,757
Ox AN A2 H ST (21,4030a) 6,633, 156
2 5,877,480
= 755,676
oxABAXNANEH (BFHI) 133,606
2 117,929
= 15,677
B s X224 8 30,000 0 30,000
403 TXISHSKHZO0IH 30,000 0 30,000
01 XtRICHHIAHE 2 % 30,000 0 30,000
OBl & = X i 221 4 48 (2000H) 30,000
MYRS M4 RED|E T4 3,813,200 4,856,373 ~1,043,173
| 1,600,000
= 2,213,200
DEIM M RS 341,100 437,273 £96,173
202 Ofl 6,600 7,273 A673
01 =Loit] 6,600 7,273 A673
OASNSMMSEIUEL A2 X7 6,600
308 RHXIEHHISOIH 120,000 120,000 0
01 XNASLHILBES 120,000 120,000 0
ODEIM MAGK X4 (800ha) 120,000
403 THXISHSKH=O0IF 214,500 310,000 95,500
01 XXM A= R E 214,500 310,000 95,500
OS2 S (4H4) 72,000
OHIT2IE HILEISA 4XI(125S) 112,500
ORAFIH B2AZXI| 23 (200H) 30,000
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S SAXED
Mo ARRSAMAY D (SEHL S/ 5 - SE)
ol AIZRE MM RE)|U X4 (£l &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
SEEEREEER 2,800,000 3,500,000 A 700,000
ODBXANYZ3H(1IHA) 2,800,000
p] 1,600,000
= 1,200,000
VP =Y | 16,141,686 15,040,757 1,100,929
= 14,043,012
= 2,098,674
AUNSHHASLMAIL (2D) 243,600 333,840 90,240
= 168,000
= 75,600
308 RHXISHAISOIA 243,600 333,840 90,240
= 168,000
= 75,600
01 RXSHBARES 243,600 333,840 190,240
OV OINES &= oHE 2N (120na) 243,600
= 168,000
= 75,600
EUMBH BEAL(22) 3,559, 110 2,846,737 712,373
= 3,310,800
= 248,310
308 RXISHHISOIA 3,559, 110 2,846,737 712,373
= 3,310,800
= 248,310
01 RXNSHBE2ES 3,559, 110 2,846,737 712,373
OELMNYH B S (38,000 ) 3,559,110
=2 3,310,800
= 248,310
AP SANRELAL (D) 1,196,000 1,980,000 784,000
= 920,000
= 276,000
403 TEXISHHSKH2 0| 1,196,000 1,980,000 784,000
= 920,000
= 276,000
01 RXSHIZ2E 1,196,000 1,980,000 784,000
OXSHPSLNREL (5IH4) 1,196,000




SN SATED
By ASTSAYAYD(SYHLS4 /59 - 55)
o9 AEASY 4 Rk
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
= 920,000
= 276,000
SI18dlz XN (=1) 9,312,500 4,120,000 5,192,500
= 8,642,000
= 670,500
308 XHXIEHHISOIF 9,312,500 4,120,000 5,192,500
= 8,642,000
& 670,500
01 XXSHHBILAEXS 9,312,500 4,120,000 5,192,500
ORIIZHIZE=2(149,000€) 9,312,500
= 8,642,000
= 670,500
EE sdtE RSE4dE 191,800 225,740 A 33,940
202 OdHl 7,300 7,740 A 440
01 LAY 7,300 7,740 A440
OHBASYNY T S 7,300
308 XHXIEHHISOIF 48,000 48,000 0
01 NXEHHMILEXS 48,000 48,000 0
Ox&d sHs0E TR (16IHL) 48,000
403 XXM SA=201H 136,500 170,000 A 33,500
01 XXISHIH2EX 136,500 170,000 A33,500
OHBYSNE TSSRHE(10H2) 52,500
OHHBFDETSHS RSAL I (5HL) 84,000
AEFsY AN HE 149,400 192,000 £42,600
403 XHXISHSHEOIE 149,400 192,000 £42,600
01 AXISHX=2E X 149,400 192,000 A42,600
OHBY NSUE OISEH(180H2) 113,400
OHBPSMS AZMMAL KB (6H2) 36,000
TEE SN 2= 50,400 54,000 23,600
308 NXIHHSOIH 50,400 54,000 23,600
01 XNXHHMILEXS 50,400 54,000 23,600
OF#H SXM =3 (200ha) 50,400
AEsY =7 122,000 165,300 £43,300




SN ST D
HH: AYTSAYLYD(SLHL A/ 5 - 5E)
ool MBASY 54 (St5: &8 9)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
202 01l 500 300 200
01 =LHoit] 500 300 200
ORBY AU B S 500
307 21201 H 23,000 15,000 8,000
04 DIIEABE 23,000 15,000 8,000
ORAEYSAES B3 &IH13) 23,000
308 XXIEHHSOIH 73,500 100,000 26,500
01 KASHILBES 73,500 100,000 226,500
OREYSAS ASZEHI(1,00024) 73,500
403 THXISHSKHZO0IR 25,000 50,000 25,000
01 KXICHHI =R E 25,000 50,000 225,000
OFNBYEY L4012 N (EBHA) 25,000
SHIXS ERUX 1,276,876 72,000 1,204,876
2 982,212
= 294,664
308 XHXIEHH SOIH 1,276,876 72,000 1,204,876
2 982,212
= 294,664
01 NASHILRES 1,276,876 72,000 1,204,876
O=HIZSZ XX (7,3200a) 1,276,876
2 982,212
= 294,664
AEFSHSOE BN 40,000 0 40,000
2 20,000
= 20,000
307 21201 40,000 0 40,000
2 20,000
= 20,000
2 LIABNBE 40,000 0 40,000
OREYSMSASHLSXA(1H2) 40,000
2 20,000
= 20,000
SUMADIE I (SHHSLL /5 - 5E) 29,296,920 26,560,298 2,716,622
2 26,465,000




SN SAXIR D
B SAMAI|Y EH(SHEHLSL/EY - SE)
el OHEE 8432 =8 LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 2,831,920
LN 233X H EE 12,914,225 10,315,300 2,598,925
g 11,255,000
== 1,659,225
SHMAN JIBHAEH|] F=&(=21) 2,200,000 2,184,000 16,000
g 2,200,000
402 QIZ2EX =0l 2,200,000 2,184,000 16,000
rag 2,200,000
01 QI2tX=2EXR 2,200,000 2,184,000 16,000
OXNELS=E LML A (20X 2) 2,200,000
g 2,200,000
HiZ=JHAAIE (2 D) 3,000,000 3,000,000 0
g 3,000,000
402 QIZ2EXE0| ™ 3,000,000 3,000,000 0
g 3,000,000
01 QIZX=2BEXR 3,000,000 3,000,000 0
O =& AFE (3OH K F2) 3,000,000
g 3,000,000
sEsY MESESINE(=1) 1,632,000 1,632,000 0
i 1,632,000
403 XXM SK201H 1,632,000 1,632,000 0
g 1,632,000
01 XXESHA2EX 1,632,000 1,632,000 0
OsEsY - MEZHIHE(12DHXIF) 1,632,000
iy 1,632,000
SHAMAF JIBHEH|(=21) 2,470,000 2,484,300 A 14,300
rag 1,900,000
== 570,000
403 XNXESHHSAE20IN 2,470,000 2,484,300 A 14,300
g 1,900,000
= 570,000
01 XXSHA=2EX 2,470,000 2,484,300 A 14,300
OARZE SN (4MKF) 2,470,000
g 1,900,000




SN SAXIR D
B SAMAI|Y EH(SHEHLSL/EY - SE)
Chel OtEN 242 e CRE-E)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
== 570,000
sSToH GlZAIE (21D) 2,712,225 915,000 1,797,225
rag 2,523,000
= 189,225
403 XXESHHMSA=20lM 2,712,225 915,000 1,797,225
= 2,523,000
= 189,225
01 XAXEXMASEX 2,712,225 915,000 1,797,225
Ot HEl 2= (18I0 XI=2) 2,712,225
rag 2,523,000
= 189,225
2lAld W2 400,000 100,000 300,000
403 XXIEHHMSA=201H 400,000 100,000 300,000
01 XAXESHMAE2EEX 400,000 100,000 300,000
O=clAlE HE=+ 400,000
SHE Ex2 2222 500,000 0 500,000
403 XXISHMSK201H 500,000 0 500,000
02 3J|12S0HICHSHHEE AFE B 500,000 0 500,000
O=gE 2xzdH 2822 AtY 500,000
S AD|EE A H| 16,382,695 16,264,998 117,697
iy 15,210,000
= 1,172,695
SMA JIBHAEHI XK (=21D) 16,382,695 16,244,998 137,697
g 15,210,000
= 1,172,695
202 O4H| 20,000 0 20,000
01 =2UWddl 20,000 0 20,000
OUFEBXNEHCAIE =& S 20,000
403 XXM SKE01H 16,362,695 16,244,998 117,697
rag 15,210,000
== 1,152,695
01 XAXESXMASEEX 16,362,695 16,244,998 117,697
OREAXIH2IAL (2IH Xl /113ha) 1,517,000
g 1,400,000
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